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Abstract

The non-linear-Consequence generators GF(p) when p is a premery
number have been studied, in general cose for the previous work [2 '} and when
p =2only.

In our present work, we proved that the term:

r{m
v-4{7
mri=1\[I

Calculated in the previously mentioned work [2 ] was incorrects when p#2.
Also, soluing the problem 10 regulation work p generators for the consequences
GF{p) by means - off a generator (works a regulator) require soluing that

equation of order (p) especially for p=2.
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